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ROUND2-G1 BFEEREE
JEAE 4 Hi i) &4 TEC  ATH Total
L [Es) Afh— (LAY 68 =— A 7K 17.50 7.44 24. 94
2 |EtE T PN 85 vV AT u—A 16.66 7.26 23. 92
3 AR IRZ R 68 =— A 7K 16.52  6.90 23. 42
4 (W ZHN 30 =F 16.10 7.02 23.12
5 |®iE F— R B 85 vV AT u—A 15.96 6.84 22. 80
T BLaE B 6 T—H 15.54  6.60 22.14
T O|ER fE AbifE 30 = 14.70  6.36 21. 06
8 | & H[it] 8 NN T 7 14.56  6.24 20. 80
ROUND2-G2
NEAL 4 Hi BroJs & 4 TEC = ATH Total
1 |NE IERE )1 6 T—H 16.10 6.84 22. 94
2 (Wl IEF fojiE 85 vV AT —A 15.68 6.66 22. 34
3 PIES IEd BE 8 NN Ty 15.54 6.54 22.08
4 (Wbr R fie] 111 30 TUF 14.70  6.36 21. 06
5 [$RA EH Koy 6 E—9> 14.42  6.12 20. 54
6 [EHEm =R S 85 vV AT m—A 14.14 6.18 20. 32
7 |EHE L FngkiL 8 I NN Ty 14.14  6.06 20. 20
8 [PA B il 30 TUE 13.86 5.94 19. 80
ROUND2-G3
g EZ ] & B 4 TEC = ATH Total
1 |2EF fndh gl 85 vV AT —A 17.50 7.44 24.94
2 |& EKER S 6 E—9> 17.08 17.38 24. 46
3 |HI EXR (Y= 8 NN Ty 17.08  7.32 24. 40
4 (K e N 68 =— %A 7K 16.24 6.96 23. 20
5 |fIF i WA 85 vV AT m—A 15.26  6.60 21. 86
6 [5kEF Tek Ry 24 A oAy 14.28 6.18 20. 46
TOHE AR gy 85 vV AT m—A 13.30 5.70 19.00
T =5 s B2 8 NN Ty 13.16 5.64 18. 80
ROUND2-G4
g 4 Hi I B 4 TEC = ATH Total
1 |TH #h eifEE 68 = — %A K 17.78 7.56 25. 34
2 [ K— BE 68 =— %A 7R 17.08 7.32 24. 40
3 [N R B IRy 6 t—H 16.66 7.02 23. 68
4 |HEJIl ELA Hefir] 8 INNLT 16.38 7.08 23. 46
5 [ExA RAI A=F 1 r7—vxrr— 16.38 6.96 23. 34
6 |hvE mE ) 30 =¥ 15.40 6.60 22. 00
7 (W Rz W 68 =—/ %A 7K 15.26 6.48 21.74
JIlEs sk T 30 = F 14.00 5.94 19.94




